

**BID2024-43FURNISHING AND DELIVERY OF METROPOLITAN M-94 FIRE HYDRANTS FOR
TWW - CONTRUCTION AND MAINTENANCE OFFCICE - VIRTUAL OPENING DATE - JULY 16,**

2024 AT 11:00AM

BID2024-43 FURNISHING AND DELIVERY OF METROPOLITAN M-94 FIRE HYDRANTS FOR THE DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS, CONSTRUCTION AND MAINTENANCE OFFICE - VIRTUAL BID OPENING JULY 16, 2024 AT 11:00AM				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	BRENT MATERAIL COMPANY	RARITAN GROUP, INC.	CAPITOL SUPPLY CONSTRUCTION PRODUCTS, LLC	FERGUSON WATERWORKS
ADDRESS	325 COLUMBIA TURNPIKE - SUITE 308	301 MEADOW RAODS	149 OLD TURNPIKE ROAD	507 OAK GLEN ROAD
CITY, STATE, ZIP	FLORHAM PARK, NJ 07932	EDISON, NJ 08817	WAYNE, NJ 07470	HOWELL, NJ 07731
CONTACT NAME	LINDA GARDNER	JAMES F. RICHARDSON	HUGH MALLEY	JOHN MASTROIOVANNI
TELEPHONE	973-325-3030	732-985-5000	973-627-5200	848-992-2132
FAX	973-325-7360	732-985-5002	973-627-1790	732-202-5707
E-MAIL	linda@brentmaterial.com	miro@raritangroup	highmalley@capitalsupplyconstructionproducts.com	john.mastrogiovanni@ferguson.com
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
PROHIBITED INVESTMENT ACTVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 ISSUED 6/28/2024	INCLUDED	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC	CERT#10438 EXP. 4/15/2027	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS	CERT#33163 EXP. 11/15/2030	CERT#33467 EXP. 1/15/2026
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
STATE & FEDERAL DEBARMENT CERTIFICATIONS	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	NO	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES
THREE (3) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED
GRANT TOTAL - SEE ATTACHED BREAK-DOWN OF UNIT PRICING	\$182,922.30	\$183,279.42	\$184,125.69	\$185,193.27
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE

Brent Material Company

Trenton Water Works – 2024 Fire Hydrant Order Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, Top Section Only (A-494) w 4.5" Main Valve Opening	15	Each	\$2253.43	\$ 33801.45
2	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	6	Each	\$3304.01	\$ 19824.06
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	12	Each	\$3448.56	\$ 41382.72
4	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	3	Each	\$3635.94	\$ 10907.82
5	Metropolitan M-94 Fire Hydrant, Top Section Only (A-495) w 5.25" Main Valve Opening	15	Each	\$ 2253.43	\$ 33801.45
6	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	3	Each	\$3539.02	\$ 10617.06
7	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	9	Each	\$ 3620.86	\$ 32587.74
Grand Total >>					\$ 182922.30

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

Karetan Group, Inc.

Trenton Water Works – 2024 Fire Hydrant Order
Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, Top Section Only (A-494) w 4.5" Main Valve Opening	15	Each	\$ 2,267.08	\$ 34,015.20
2	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	6	Each	\$ 3,304.35	\$ 19,820.10
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	12	Each	\$ 3,145.94	\$ 41,951.28
4	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,103.08	\$ 10,899.54
5	Metropolitan M-94 Fire Hydrant, Top Section Only (A-495) w 5.25" Main Valve Opening	15	Each	\$ 2,267.08	\$ 34,015.20
6	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	3	Each	\$ 3,153.03	\$ 10,009.02
7	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,101.812	\$ 32,503.08
Grand Total >>					\$ 183,179.42

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

Trenton Water Works – 2024 Fire Hydrant Order

Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, Top Section Only (A-494) w 4.5" Main Valve Opening	15	Each	\$ 2,279.30	\$ 34,189.50
2	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	6	Each	\$ 3,304.34	\$ 19,826.04
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	12	Each	\$ 3,463.52	\$ 41,562.24
4	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,614.83	\$ 10,844.49
5	Metropolitan M-94 Fire Hydrant, Top Section Only (A-495) w 5.25" Main Valve Opening	15	Each	\$ 2,279.30	\$ 34,189.50
6	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	3	Each	\$ 3,572.61	\$ 10,717.83
7	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,644.01	\$ 32,796.09
Grand Total >>					\$ 184,125.69

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

Ferguson Water Works

Trenton Water Works – 2024 Fire Hydrant Order Bid Proposal & Specifications

Bid Proposal: The undersigned proposes to furnish all materials per the specifications and deliver to the Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, Top Section Only (A-494) w 4.5" Main Valve Opening	15	Each	\$ 2,288.69	\$ 34,330.35
2	Metropolitan M-94 Fire Hydrant, 3'-6" Bury w 4.5" Main Valve Opening	6	Each	\$ 3,355.18	\$ 20,131.08
3	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 4.5" Main Valve Opening	12	Each	\$ 3,481.28	\$ 41,775.36
4	Metropolitan M-94 Fire Hydrant, 6'-0" Bury w 4.5" Main Valve Opening	3	Each	\$ 3,670.44	\$ 11,011.32
5	Metropolitan M-94 Fire Hydrant, Top Section Only (A-495) w 5.25" Main Valve Opening	15	Each	\$ 2,288.69	\$ 34,330.35
6	Metropolitan M-94 Fire Hydrant, 4'-0" Bury w 5.25" Main Valve Opening	3	Each	\$ 3,572.61	\$ 10,717.83
7	Metropolitan M-94 Fire Hydrant, 4'-6" Bury w 5.25" Main Valve Opening	9	Each	\$ 3,655.22	\$ 32,896.98
Grand Total >>					\$ 185,193.27

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.